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Translation in English

Sub: Study of Specific Social Problems (Part-1) (BADSE - 506)

Instructions:  Attempt all questions.

o
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Answer in detail (Any Two) (40)
Describe the education system prevailing in ancient & medieval India and during the

British rule in India.

Discuss the problems in primary, secondary & higher education.

Explain the changes which take place in process of socialization due to industrialization.

Explain in brief causes & remedies of environmental imbalance.

Answer in brief (Any Three) (30)
Explain in detail how does Ozone act in the stratosphere.

Take a review of problems in industrial sector due to industrialization.

Describe the recommendations made by different education commissions in independent

India.

Explain the relationship between education & development.

What d you mean by pollution? Explain the reasons & control measures of air pollution.

Write short notes (Any Two) (30)
Industrialization and interdependence

Hunter commission

Education of the weaker section

Industrial automization
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